LT4—X& =7 (A-BERI)

ADSR HDCP 0~17
20234
JIEA K4 OUT IN 18H HD NET
1+BG K HF = 35 37 72 10 62
2 HE %5 39 36 75 12 63
3 i R 37 42 79 14 65
4 VX SN 39 38 77 11 66
5 MU FhE 40 40 80 13 67
6 RPN PRI 40 42 82 15 67
7 ;e i 37 41 78 10 68
8 wmHE A% 40 43 83 14 69
9 Fiid e 43 44 87 17 70
10 A NI = 40 42 82 12 70
11 Y H B 41 45 86 16 70
12 REIRF 1) 38 45 83 13 70
13 AT 45 42 87 16 71
14 Fofd I 43 43 86 15 71
15 RE %+ 39 44 83 12 71
16 AR = 47 42 89 16 73
17 BAR % 45 39 84 10 74
18 Il Rk 42 47 89 15 74
19 IH BR 54 44 98 14 84

#HDCP
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LT4—X& =7 (A-BERI)

BYS X HDCP 18~40
20234
JIEA K4 OUT IN 18H HD NET
1 HH 5 38 38 76 18 58
2 WA F5H 43 45 88 26 62
3 il AB 44 47 91 27 64
4 A A 44 48 92 28 64
5 EREEEPS 44 40 84 19 65
6 aH IEE 40 43 83 18 65
7 Fm #E 45 43 88 21 67
8 AR Gl 45 44 89 22 67
9 A £ BB 43 47 90 23 67
10 H ko 49 41 90 22 68
11 R #R8L 48 47 95 27 68
12 ok IE 44 44 88 20 68
13 H & 44 44 88 19 69
14 L #kF 43 44 87 18 69
15 HH FET 47 53 100 31 69
16 HAR L 49 50 99 29 70
17 I RER 46 44 90 18 72
18 B JFHE 47 49 96 23 73
19 i ST 45 47 92 19 73
20 PRI 4t 48 56 104 30. 4 73.6
21 Il FET 45 47 92 18 74
22 HT Ak 48 52 100 26 74
23 g 58 55 48 103 28 75
24 KN F72 50 44 94 18 76
25 B & 47 48 95 19 76
26 P 1 55 57 112 26 86
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